Midterm 2014 (Compiler) Name: Grade:

1. (10%) Use one example to show that the following grammar is ambiguous.

stat > if cond then stat
| if cond then stat else stat
| other-stat

2. (10%) For the following NFA, find the corresponding DFA with the minimum

number of states..

letter
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X

digit

©
)
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3. (10%) Reduce the following transition table.

Input symbols
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4. (10%). Is the following grammar LL(1) ? Explain why ?
S>ABBA
A->a
A->¢
B->b
B>¢
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6. (10%) For the following FSM, write down the related production rules (for
example, C->0C, C->1C).




7. (30%) For the following grammar:
<E> ;=<T><E’>
<E’>:=+<T><E> | <
<T> :=<F><T>
<T’> =% <F><T’> ] e
<F>:=(<E>)|id

(a) Find First and Follow sets (for each nonterminal symbol). (10%)
(b) Create its parsing table. (10%)

(c) Shows the move made by predictive parser on input id+ id * id (based on a
stack). (10%)



